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Unit 2: Expressions
The book.
Chapter 2
Check in
1 ai 4p ii 31 iii 7k iv abc
vV 8m vi 35y vii  2ab viii 12nu
ix 24
bi 5p ii 2G iii 26 iv 0
v p? Vi m vii %
ci m+m+m+m ii y+y+y+y+y
2 a2 b 8 ¢ 0 d 7
g 39
3 96cm?
4 l4cm

Exercise 2A

1 as—4 B e 7

2 The total cost of 4 pens and 4 pencils = 4n + 4m
How much more 4 pens costs than 4 pencils = 4n — 4m
The change from $4 in cents when you buy 4 pens = 400 — 4n
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Exercise 2B

1 a 18 cm? b 10a ¢ 12z d ny
e 9mn f 20pq

2 a 4da b 2a+2b ¢ a+2b d atb+c
e a+2b+12 f 2a+2b g 2n+2n

Exercise 2C

1 a 10 b 60 ¢ 10x

2 a 60 b 300 ¢ 60x

3 a.d b 14 ¢ 2x

4 a 400 b 1500 ¢ 100x d 300x

S a & h: 5o ¢ 1ly d 44y

6 a 600 b 1600 ¢ 100x d 800x

7 a 730 b 3650 ¢ 365y d 1825y

8§ a 7Tx+4 b 7y-35 ¢ 14y d 12x-3
e 24x+5 f 36x—11 g 100z—30 h 100z +40

9 a 10yearsold; 7+3 b y+3 ¢c p+5
d m+n :

10a $13;5+8 b $10+d

11a 30;5%6 b Sy c 48z

12a $2: 10+5 b $2

13a $8;14-6 b $22;14+8
c $x-10 d $2x-10

14 a The total of Amir’s and Debbie’s sweets
b Triple the number of Debbie’s sweets

¢ How many more sweets Amir has than Debbie

d Amir has 2 more sweets than Debbie
15




4n

Exercise 2D

1 & Sy, ey~
¢ 40xy, —yx, Sxyd

2 odd one out is ac
3 2R is the odd one out a8 it has a capital R
4 The like terms are: 4x°p, 0.4x%p; 4x°p, 3px*
Exercise 2E
“1)a 10p b 9 ¢ 20t d 111 e 3m
— 1 4a° glz’i h i-98£ § 2c-1.
k 12¢3d . 1 2c¢*+7c
2 a 3g-2b; b 3x-Y c 2g—f+3
3 a 7a+6b b 3a ¢ - d p+g
e Jxxdy A Oftg+h € s—ta, MGa-m—gp
i 3x+y+l j 12+2+y Kk 17+2 =x—-2y
1 7¢2-5d

4 2P-x=P, 7t=4

5 4+2x+3x; 6-2x+8x—-2—-x; 2— x+6x+2
are all equal 4 + Sx

6 3mpt

7 a 12a b 4a+8 ¢ 21t d 12x+10
e 6x+22 f 2h+2k+8 :

9 a 3s b 4p ¢ 6m,3w d 3x, 14y

10 a 12+ 2x is wrong as it cannot be simplified




Exercise 2F

1 a 3p+3g b S5p—-59 ¢ 4l+4m d 3x-3y
e 6r+6s f 51-5m g 8+40g h 18x+ 9y

6x+15 j 15y-10 k 7p+2lg 1 8u —20v

—

2 a 10x+35y-35 b 20m — 32t +4

¢ 11-11x+44y d 32m-24+72n
3 a 6k+12 b —-6x-12 ¢ 70t-7

d -70t+7 e 110p-30 f -110p+ 30

g 32-8x+4y h -32+8x—4y
4 al b 2 e/ d 5

5 There are many possible answers (more in a and b if you
include negative integers outside of the brackets)

a 2(5x+15),52x+6), 10(x +3)

b 2(6x+ 12), 3(4x + 8), 4(3x + 6), 6(2x + 4), 12(x + 2)

c 2(8x2—10), 4(4x2 = 5), 2("8x2+ 10), 4(4x>+5)
Exercise 2G

1 a 10x+10y b 1lp+11g ¢ 8r+13s d 10r+6s
e 19g+2p f 6x+10y g 15-8z h 26+y

i 17-5p J Tx—-4y+2 k 15x+2 1 8&-1
2 a 3x+15 b 6b-8 ¢ 15x+40
d 5x+6 e 26x+20
3 8 -Ix-8 b 27-6x ¢ 8w d 2x-9y
e 20p-55t f —-13m-40p +21q g 17h-2g
h 3r+15+8t+2s

4 8x-T7=3-2(4x+5)
21x+28=4-3(12-"7x)+ 30
TBx+4)—2x+1=5@x-1) - (x - 34)
The odd one out is — 8x + 13.

Exercise 2H — mixed questions

1 a 15x b 7x+4y ¢ 2m+Tn+7
d 15xy e 17m f 18p-4
2 a 4+12w b —-10x+15
c 44t-11s d 26 ¢ Tx=17.. & 4-2«




b 21x+5 ¢ 1000k+s
3 a 100d+p b g 20
4 a Sa+2b
§ 3z+11km
i ¢ 3x+y+30
6 a x+15 b x+y+15
7 $5x4+17
8 22p |
9 P=10x+36,A=25x+80
Exercise 2
1 a 3b b 7a+4b ¢ 72ab
2 a 180 b 60x ¢ 1440 d 1440y
e 2880+ 60x f 1440y + 840
g 1440y +60x
3 a $30 b $5x c $20y d $20y+30
e $5x+20y
4 a 14+2x b 4y+2 c S5p+2w-1
5 a 6a b 4r+8
6 a $37 b $9d + 5¢
8 a 12p+3 b -18T-30
¢c 16x+8y d 14m—-9y—-12 e —4-R
f 16-34n g 5d-3c-14b
9 10x+18
Check out
1 a 5a-2b b 10xy ¢ 2b X3¢
2 a $2+7 b %
3 al? ii 1
b iand iii are expressions, i is an equation
¢ 3t —1,5t, 400t di3 =2
4 a 40r-30 b -3+12x
c 18t+4f d 14-19w
S5ai l6p i 16p+4
b i 40x-10 ii 8x+18
6 a 1Im 11y

5 b

20




The homework book
2A

1 x-5Scm

2 15-ym

3 8mkg

4 p-4

§ S5p+7rcents
6 8b+ 2p cents
7 20 - 2x dollars

8 5b+35

9 8¢c+8g+24

2B-2C

1 a 2Ix b 10xy ¢ 12pq
2 a 6x b 3x+y c 2x+y
3 a7 b 28 R d 14x
4 ab-cd

5 x+yyears

6 36-x dollars

7 %dollars

8 12x+19y dollars




2D-2E

1 a
C
e

8x + 6y
8y + 10
8q +35

g Tx-=TTy

i

3x -3y

2 6x+8y+4z-8
3 2a+3b+4b=7Tb+5a-3b

5xbxa=2ab+3ba

b 13f+5g
d 4a+2b
f 8x+4y
h 10c + 3d

J

“4a - 3b

2a-3a+4b=5b+a—-b-6a
2ab+5=4ab+7-2ab -2

a
b
c
S A
b
c

5x+6y-3x+2y=2x+8y

Tn-3m-2n+m=>5n-2m
7Ja-3b-9a-b="2a-4b

4
3-2x

8+ x

6 6x+22

2F

""GQOG”U’.QQBW""OQGGN

3x+6

40 + S5a

2x + 2y

8m — 8n
12x+ 6

24 - 20y
6x + 9y
36a + 45b
2x-4
“12y - 21

8a+ 12b - 20
6+ 12x + 18y
21f+ 14g - 35h
6x—-3y+12
21p +7q - 28r

e - - B - B L ol - TR

4y - 20
18 - 6p
3a-3b

Tp +7q
15y-10

6v -8
24x - 20y
24p - 32¢q
4y +4
“12 + 10y
15x -6y + 3z
10p -6 + 4q
10x — 20y + 30z
“2a+6b - 14




3 a 2x+3 et
o A d 4x-3
e Tx+1 b
4 a 3(2x+5=6x+15
b 4(3y-2)=12y-8
¢ 8(6x-7)=48x-56
d 5(5-2y)=25-10y
e 6(2x+3)=12x+18
f 4(7x+2)=28x+8
g 35y-4)="15y+12
h 82x+5)="16x-40
2G-2H
1 a 5x+21 b 9x+42
¢ 10y +61 d 9x-12
e Sx+2 f 14y+22
g 30x+28 h 3x+2
juiddy - 19 J 3x+26
k1142 1 47x-64
m 3x + 8 n 3x+22
o 11x+4 P 2-5x
q 5x-2 r 2x+5
2 a 13x+14 b 4x+ 13
c 6x+13 d 5x+24
3 8x+20
4 area=38x - 94, perimeter = 8y
5 a 7x+10 b 11x+2
6 5x+3)+2(x+3)=Tx+21




